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S W=P V = P(Vigia - V vapour) = - pV =-RT
W=-RT=01987x 373 = -471 cal mole!

g =AH=-539.7x18=-9720 cal mole’
AE =AH-PV=9720+741 =-8979 cal. Mole™
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AG =E‘ VdP = 0

AA  =-W 50 =741 cal , mole
AS  =que./T =-9720/373 = -26.0 cal deg” , mole™
AG =AH-TAS=-9720-373 x-26 =0
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Waax  =RT In V,/V;=1.987 x 300 x 2.303 log 24.62
2.562
= 1373 cal/mole
AA  =-W g =-1373 cal mole !
AE =0
q=AE + W=0=1373=1373 cal.
AH =AE+A®PV)=0+0=0
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L VdP = RT InPyP,= 1987 x 3 x 2.303x-1

-1373 cal /mole .

AS  =qrv.!/T =1373/300 = 4.58 cal deg™ mole ™
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